Divide by Powers of Ten (D)

30+ 0.01=

2-+1,000 =

67 +10 =

54 + 1,000 =

34 +1=

39 +-0.001 =

17+1=

18+1=

67 =+ 1,000 =

10+ 1,000 =

Find each quotient.

11=10=

25+0.01 =

81 +0.1=

31 +-10=

11+-1=

6+ 100 =

76 + 1,000 =

1+-0.1=

44 - 10 =
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Divide by Powers of Ten (D) Answers

Find each quotient.

30 +0.01=3,000 11+-10=1.1
2+1,000=0.002 25 -+0.01=2,500
67 ~10=16.7 81+ 0.1=2810

54 - 1,000 = 0.054 2+0.1=20
34+-1=34 31+-10=3.1

39 +-0.001 = 39,000 11+-1=11

17 +-1=17 6+~ 100 =0.06
18+1=18 76 +~ 1,000 =0.076
67 =~ 1,000 = 0.067 1+-0.1=10

10 - 1,000 =0.01 44 -10=4.4
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